[ 100
[ JO0
- 100
L 10
[ J0

Cmmpp) (1)

oW S o @S Y U o o (SOl 9 @S (50 @5 (2L 63 (g wiwd B ¥ (U 6 diwd jl

OA
—ry
s

®

(Cmp w3 ) (Yl )

a9l (5o Cawd @y |y §2y85 Juol> laml
oF
-r
vy

S (50 48LSI 1) YY dac (PF) ol Cuwd 4 Jolo 4 Guaw

ry
+ry
00

®

Copar) (Fis=)

S (50 Vo slgio |y FY Juols (53,91 Cawd @ (gl
v
—Wo
PP —eailedl 53,8

®

(e anS] [(Figw |

lose (580 (395 (glp 93,5 PV — V1 =[ig] slaes e Giiwgd @ 1y Loyl jl 3ac V1 g5 (693,5 PV I ums (5i8g

®

(eoes) ()

Yo — Qo — YO — QY =YY — OO



all) Fo —[rr] = 1A
o) ro+[d =Fo

o) Yo +[r = ov
@) PFo—[IA] =

®

[o:w)aqﬁ] [;JIS“’]

¥y

kA

-rA

1A

®

[O:Qw)édig}S] [V,le»]

04
—PY

PY  eaile b K alaw s

®

[null TOWS w)f] [ A Jlow ]

lo 4+ Q0 = loo

Yoo — Qo = Qo
Yo+ Ae = loo

Fo+ Fo = oo

©

(null:can)s ag;5) (3 Jigw |

TA Y
] T T | T T L] "I T T T ';
I+ Te Fe B F+ Yo As %+ )
oF Fa
—vs +1A
PF o1
- +A
YA 37



